2 3 I 4 5 I 6 I 7 I 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
S A [NEW RELEASE LJH 08/13/05' Y LJC 08/13/05’
ITEM PART NAME Q'ty NOTES C | Besdihjmisss R ) YCH 07/18/08’ % LJC 07/18/08
PR E— 1 PLASTIC HOOD @ rste R D |mn 4 xm YCH 05/20/10’ _ LJC 05/20/10’
T Sy 0 , [21] tone gouT 2 | #4-40 E |ss+12008847 5M3¢10 | YCH 08/30/10° Y LJC 08/30/10’
n ‘ ~ 2.2| SHORT BOLT 2 #4-40 F |ADD P/N CODE LJIC 12/24/13’ % LIC 12/24/13
— 3| NUT 2 | M3 L | DRAWING UPDATE JLZ 05/21/18" ~
4 LONG SCREW 2 M3
NOTES:
24.99 5 SMACENASHES 3 1. Hardwares are all Nickel plated.
6 SHORT SCREW 2 M3 2. PART NUMBER CODE:
7 METAL WASHER 2 M3 DS1045 — 09 X X X X X — XL
30.8 Hood Materials ®
: A ABS
12.0 B: Similar ABS
1 Washer type
1: Metal
| ! | Bolt type
U= B R s L/ Lo
: ort
Packing type
‘ ® 1: Mix packing
‘ © % Q: Full packing
| I
‘ ¥, : } Cover Material
|— ‘ P: Plastic(ABS)
|- 3 - r— E 1 S - Cover Color
‘ N A: Gray
I B: Black
H H V: lvory
Position
= 09: 9pin
‘ 14.340.5
1.8
UNC#4—40
2 AN
7.0 - 4—40 UNC -
| " ‘ Short BOLT
| @ 7@577777 7%7 . NUT  t=2.3mm
! M3 | 505 4 0 4.8
6.6+0.5 ~11.840.5 4.8
| o 10.0 /_ & ‘
1 7 44 H ‘
) 23.2
e N = } \7%7 00
pSY M~ Q!
]
Long BOLT LONG SCREW
SMALL WASHER
GENERAL TOLERANCE ANGLE TOLERANCE [PROJECTION | @ - [TITLE | D-SUB Plastic Hood 180"y
X.  +0.60 X. 5 UNITS mm 9 Positions
X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
XX +0.25 XX +2° =
DRAWING TYPE |COSTOMER @ = fﬂﬂ EE % %‘ IKE /ZA\ a
SCALE 11_SHEET |1 OF 1 °© CONNFLY ELECTRONIC CO., LTD
DRAWING NO. |[C—DS1045—09XXXXX—X—L| EORNFLY .
I 2 3 4 | 5 6 I 7 I 8



Administrator
新建图章


2 3 | 4 5 | 6 | 7 | 8

BOM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED
, A | NEW RELEASE LJH 05/18/05' ~ LJC 05/18/05’
ITEM PART NAME Q'ty NOTES C | BHIHEIRL R~ YCH 07/18/08’ ~ LIC 07/18/08"
1 ! PLASTIC HOORES 2 L S § D [ & ms o YCH 05/20/10’ ~ LIC 05/20/10’
h;J 20 L:d o [21] LONG BOLT 2 f 0 E |ADD P/N CODE LIC 12/24/13 ~ LIC 12/24/13'
| 2.2| SHORT BOLT 2 #4—40 K | DRAWING UPDATE JLZ 05/21/18’ ~—
‘ 33.32 ‘ 5 NUT 2 M3 NOTES:
4 LONG SCREW 24 M3 1. Hardwares are all Nickel plated.
39.2 2. PART NUMBER CODE:
5 SMALL WASHER 4 DS1045 — 15 X X X X X — ><L
Hood Material
6 SHORT SCREW 2 M3 A:OOAES.O erials ®
7 METAL WASHER 2 M3 B: Similar ABS
Washer type
1: Metal
1 Bolt type
L: L
= _\ f ) S: Short
) | \ | Packing type
\ 1: Mix packing
- Q: Full packing
COnneLy —cC Material
of - ol | D N 28 ety
0l 1~ Q L————Cover Color
i S’ =N 1.8 A: Gray
[ @ N UNC#4—40 B: Black
V: Ivory
1 ———————Position
if F 15: 15pin

SN

8.0

=2 .
\

Short BOLT

’ 9.9 ‘ f H é% LONG SCREW NUT  t=2.3mm
Y | T .
! 6.60.5 pt g
— : — 3 6 77405 5 |
\ - 3 M3 22 _\ T
Long BOLT N 03
232 o
2 3 (A . - = - 2
O " !
N : i j
T | f SHORT SCREW SMALL WASHER
g?" M3 GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @fﬂ TITLE | D-SUB Plastic Hood 1807y
15 Positi
SISy o X.  +0.60 x. &5  [UNOS mm ostions
S i X  0.38 X %3 SHEET SIZE A4 |SERIES | DS1045 SERIES
11.5 XX +0.25 XX +2°

A;:t; DRAWING TYPE [COSTOMER @ }% ;ﬂﬂ EE‘ % ﬁ‘ I:{E /Z_\\ ﬂ

SCALE 1:1 |SHEET [1 OF 1
c]
DRAWING NO. lo—Ds1045—15x000x—x—L| €@nNNFLY® CONNFLY ELECTRONIC CO., LTD

! 2 3 4 | 5 6 ! 7 ! 8



Administrator
新建图章


1 2 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A |NEW RELEASE LJH 10/26/05' ~ LIC 10/26/05’
ITEM PART NAME Q'ty NOTES C | EErEgEh| g2 R~} YCH 07/18/08’ ~ LJC 07/18/08
54.0 1 PLASTIC HOOD | 2 | SEE P/N D | e KR YCH 05/20/10’ ~ LJC 05/20/10’
7 0 , [21] Lone soLT 2 | #4-40 E |ADD P/N CODE LIC 12/24/13’ ~ LIC 12/24/13
M. 0 2.2| SHORT BOLT 2 #4-40 L DRAWING UPDATE JLZ 05/21/1 8’ ~
- 3 NUT 2 M3
| ‘ | 4 LONG SCREW 0 M3 NOTES: )
: : 1. Hardwares are all Nickel plated.
-ﬂ\_T/I'I: i :I'Iﬂ 5 SMALL WASHER 3 2. PART NUMBER CODE:
T T 7 6 SHORT SCREW 2 M3 S R %(;Hood Materials ®
| 7 METAL WASHER 2 M3 2 ® B Ao ABS
0._\ 14.3+£0.5
Q*/ 1.8 Washer type
s/ S UNC#4-40 1: Metal
8.0 -
7t ’4":|7’ E-ORL type
! S: Showt
‘ Pockl'mg (yp(le
i Short BOLT 5 Tl Py
i Cover M.o(erio\
J 3 Bover Soar
o 3 ] S mEd V3 s o,
~ ‘ V: \_\/pry
i - Zg:s‘(é%ﬂp\'n
| i ‘ T
= J: . \ . :L NUT  t=2.3mm
C : Y, g E%
| _
40.8 5
4.8
4-40 UNC \ S |
23, o
T \ fanN <$\ .
| N> ‘
[ i [ 6.64+0.5 p i
i i : H
‘ 44 §
Long BOLT 6
M3
SHORT SCREW
GENERAL TOLERANCEH ANGLE TOLERANCE | PROJECTION | @& | TITLE | D-SUB Plastic Hood 180y
X +0.60 X 45 UNITS mm 25 Positions
X 10.38 X +3  [SHEET SIZE | A4 [SERIES [DS1045 SERIES
XX +0.25 XX +2°
A
DRAWING TYPE |COSTOMER )t% ;;ﬂg EE» % ﬁ IXE /A\ ETJ
SCALE 1:1 |SHEET [1 OF 1 o
SRAWING o lo—STot5—25000(—x—] €OMNFLY® CONNFLY ELECTRONIC CO., LTD
1 2 4 | 5 6 I 7 I 8



Administrator
新建图章


1 2 4 5 I 6 I 7 I 8
R REV. DESCRIPTION DRAWN CHECKED APPROVED
. A |NEW RELEASE LJH 10/26/05 ~ LJC 10/26/05’
TEM | SER | S pR > C | #HIHIERER T YCH 07/18/08' ~ LJC 07/18/08'
1 PLASTIC HOOD 2 SEE P/N - S 1 I ) ’
W: coa 5 44_20 D | #hn”atude”kn YCH 05/20/10 ~ LJC 05/20/10
2 SHORT .BOLT o #2-40 E |ADD P/N CODE LJC 12/24-/13: ~ LIC 12/24/13
3 NUT P VE L |DRAWING UPDATE JLZ 05/21/18 ~
& LOSCRSC R 2 M3 TOTHEci:dwo(es are all Nickel plated
) SMALL WASHER 7 2. PART NUMBER CODE: P '
6 SHORT SCREW 2 M3 A R {X " e Materials ®
[/ METAL WASHER 2 M3 é: é?riw\or ABS
Washer type
1: Metal
Bolt type
29.8 9.70 S Shod
= ® T Vi pocking
14.340.5 Q: Full packing
A/J ‘EJ LE Cover Material
| D) UNC#4-40 P: Plastic(ABS)
= Cover Color
A: Gra
77[:t7\77+|}777 B: B\ozk
V: Ivory
Position
9 : 37: 37pin
00 J{f Short BOLT

o
M3
NUT t=2.3mm
12.05
4.8
°\H
A 232 | [ |
13.70 4-40 UNC ‘\ 7 T l o
\ £ 1
= N
6.6+0.5 s 6
A
24 3 M3
Long BOLT s N
SHORT SCREW
GENERAL TOLERANCE ANGLE TOLERANCE [PROJECTION | @—F [TITLE ] D-SUB Plastic Hood 180"y
X. +0.60 X. +5° UNITS mm 37 Positions
= X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
) XX +0.25 pden =0
DRAWING TYPE |COSTOMER }TE ﬂ;] EE % %‘ EE ‘J
Metol SCALE 1:1 |SHEET [1 OF 1 o
DRAWING NO. [C—DS1045—37XXXXX—-X—-L COonNnNFLY CONNFLY ELECTRONIC CO., LTD
2 3 4 | 5 6 I 7 I 8



Administrator
新建图章


2 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A | NEW RELEASE YCH 05/24/11 ~ LIC 05/24/11
B |ADD P/N CODE LIC 12/24/13 ~ LC 12/24/13
C | Arrange Drawing JLZ 10/09/14 ~ LIC 10/09/14
69.50 L DRAWING UPDATE JLZ 05/21/18 ~
61.00
NOTES:
1. Hardwares are all Nickel plated.
2. PART NUMBER CODE:
DS1045 — 50 X X X — X
LHood Materials®
A: ABS
B: Similar ABS
1 Pock_mg typ_e
11.10 53.80 \ 1: Mix packing
Cover Color
=) 7 N | N A} A: Gray
\ B: Black

45.90

49.79

Cover Material
P: Plastic(ABS)

Position
50: 50pin

3

M3

® 4

12.72
NUT t=2.3mm 6.0
0,
I,') 0? BOLT
A s 4
Q— M3 1. 5£0.5
l LONG SCREW
5
M3
BOM LIST J @
ITEM PART NAME Q’ty NOTES LONG SCREW BIG WASHER
1 PLASTIC HOOD 2 SEE P/N
> | soT 2 | a0 GENERAL TOLERANCE ANGLE TOLERANCE [PROJECTION | @—CF | TITLE | -SUB Plastic Hood 180y
S| NUT 2% §j.M3 X.  +0.60 X! s UNITS mm 50 Positions
4 M3*10 SCREW 2 M3 X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
5 M3*12 SCREW 2 M3 XX +0.25 XX +2° .
6 | BIG WASHER 2 | M3 DRAWING TYPE |CUSTOMER )I% #ﬁé{ EE; % %‘ I}E /A\ a
SCALE 1:1 |SHEET [1 OF 1
DRAWING NO. 10—DS1045—50XXX—X—L connFLy® CONNFLY ELECTRONIC CO., LTD
2 4 | 5 6 I 7 I 8



Administrator
新建图章


